

① $M = p\mathbf{i} - 6\mathbf{j} - 3\mathbf{k}$, $N = 4\mathbf{i} + 3\mathbf{j} - \mathbf{k}$, $O = \mathbf{i} - 2\mathbf{j} + 2\mathbf{k}$. Find the value of p

$$(a) \hat{M} \cdot \hat{N} = (p\mathbf{i} - 6\mathbf{j} - 3\mathbf{k}) \cdot (4\mathbf{i} + 3\mathbf{j} - \mathbf{k})$$

$$= 4p - 18 + 3$$

$$= 4p - 15$$

$$\hat{M} \cdot \hat{N} = 0$$

$$4p - 15 = 0$$

$$4p = 15$$

$$p = \frac{15}{4}$$

$$(b) \hat{M} \cdot (\hat{N} \times \hat{O}) = 0$$

$$\hat{N} \times \hat{O} = \begin{vmatrix} \mathbf{i} & \mathbf{j} & \mathbf{k} \\ 4 & 3 & -1 \\ 1 & -2 & 2 \end{vmatrix}$$

$$= \mathbf{i}(6 - (-2)) - \mathbf{j}(8 - (-1)) + \mathbf{k}(-12 - 3)$$

$$= 3\mathbf{i} - 9\mathbf{j} - 15\mathbf{k}$$

$$\hat{M} \cdot (\hat{N} \times \hat{O}) = (p\mathbf{i} - 6\mathbf{j} - 3\mathbf{k}) \cdot (3\mathbf{i} - 9\mathbf{j} - 15\mathbf{k}) =$$

$$= 3p + 54 + 45$$

$$= 3p + 99$$

$$\hat{M} \cdot (\hat{N} \times \hat{O}) = 0$$

$$3p + 99 = 0$$

$$3p = -99$$

$$\textcircled{2} \quad F = 3ui + u^2j + (u+2)k$$

$$V = 2ui - 2uj + (u-2)k$$

F x V	i	j	k
	$3u$	u^2	$(u+2)$
	$2u$	$-2u$	$(u-2)$

$$= i(u^2(u-2) - (-3u)(u+2)) - j(3u(u-2) - 2u(u+2)) + k(9u^2 - 2u^3)$$

$$= i(u^3 - 2u^2 + 3u^2 + 6u) - j(3u^2 - 6u - 2u^2 - 4u) + k(9u^2 - 2u^3)$$

$$= i(u^3 + u^2 + 6u) - i(u^2 - 10u) + k(-2u^3 - 9u^2)$$

$$= (u^3 + u^2 + 6u)i - (u^2 - 10u)j + (-2u^3 - 9u^2)k$$

$$\int_C F \cdot dr = \int_0^1 (u^3 + u^2 + 6u)i - (u^2 - 10u)j + (-2u^3 - 9u^2)k \cdot du$$

$$= \int_0^1 \left(\frac{u^4}{4} + \frac{u^3}{3} + 3u^2 \right) i - \left(\frac{u^3}{3} - 5u^2 \right) j + \left(-\frac{u^4}{2} - 3u^3 \right) k$$

$$\left[\frac{u^4}{4} + \frac{u^3}{3} + 3u^2 \right] i - \left[\frac{u^3}{3} - 5u^2 \right] j + \left[-\frac{u^4}{2} - 3u^3 \right] k \Big|_0^1$$

$$= \left(\frac{1^4}{4} + \frac{1^3}{3} + 3(1)^2 \right) i - \left(\frac{1^3}{3} - 5(1)^2 \right) j + \left(-\frac{1^4}{2} - 3(1)^3 \right) k - (0 - 0 + 0 + 0)$$

$$= \left(\frac{43}{12} i + \frac{14}{3} j + \frac{5}{2} k \right) e$$

$$= \frac{43}{12} i + \frac{14}{3} j + \frac{5}{2} k$$